Midnight Train

Words & Music by Buddy Guy

Standard tuning

=100
Letring

J

Let ring

Let ring

Let ring

Let ring

Let ring

Let ring

™
A-_ i
q =)
<
o YN R
, ..i# 1w
A'_ ‘
'Y \ ©
\ &
il
A'
' [Te}
NN ]
.o _
. o
ol ©
ol o
= Y a E +
(Y2 has
A
ol e
o i ~lle
N T e
g
[nnil
(Y| ©
[ YRE o)
= AN ]
AL DS
|
(Yl 0
. . | | . [Te}
TN TS
[sp}
e I H-g

5

I —
—

e —
—

’

—
—

’

My

=
ot
.

o
1

I —
—

’

e —
—

Fo

to *

o
1

[T

W
[ 0 )

I3 po

10

8

[ —
—

v

[ —
—

fe

te *

e

o
1

[ —
—

’

[ —
—

e

=
-
>

o
I

[Te

W 4
[ a0

13

12

11

o

o

ITe

e

16

15

14

e —
—

e —
—

v

I —
—

’

My

=
ot
.

o
1

I —
—

’

P —
—

Fo

4o *

o
1

[T

W
[ .0

19

18

17

 —
e

’

 —
<

to

=
o 7 F

e

 —
=

to

=
o 2T

o
1

 —
=

’

 —
<

’

1

=
o 7T

o
1

[Te

V

N
AN V4
D)

1/6



22

[

ITe

[

ITe

21

A 20

[

25

24

AR

N

4o ¥

’

-

e

-

[

e

28

27

A 26

e

e

31

30

A 29

s 7 <

o=

te *

o
1

ITe

o
I

!
b

4 v

’

Lh

—

[Te

35

34
I
I

33

s sfe s 9P

J P s s v *—*

-

-

5o o

A2
)’ 4
V4

[ J

0—1—2

&

38

37

A 36

[l

e

A
-HB—@3)

41

40

A 39

4 v <

5o

te *

o
1

ITe

o
I

=
-
>

4 v

Fo

W 4
[ .0

[Te

2/6



[

ITe

44

[

ITe

43

A 2

[

47

46

N,

A}

I\

jas}
N
[T®
~|4
e il
BIAJ
» il
=3
L)
=MLY
I\
| LR <A™
L3 <N
B
Nld
e il
~|4
e 1
=
L)
=1\
x
™~
" e
NEe <o

53

52

[

[

e

N3,

56

55

A 54

 —
e

’

 —
<

o=

te *

ITe

o
1

’

=

fo *

o
I

[Te

V
[ )
AN3IV4
D)

59

58

A ST

ITe

e

3/6



Let ring

Let ring

Let ring

Let ring

o

sl.
e

sl.

de ﬂf’

Hr ’T'I

Thg/®
H®

sl.

62

[Y

sl

61

A 60

Hgr

i

vy
e

T

I
-

sl

sl.

2
o)

10

13

11+13

8+10

6-+8

3-=5

%
™
%
™
o
L)
o / o
PAS
Ml
[BAJ
T
™
%
s
=
= .WW.. =
™
[BAJ
™
oM
ql
3 el .
3 .FI# =
A'_ ‘
2 4l
= \
3 \
= TR =
AL
/
At
2 e
5 [N
q w.U

10

8+10

5>—8

69

68

A 67
W 4f
[ £

4 v <

5o

te *

e

o
I

’

Fo

fo *

[T

72

71

A 70

 —
<

to

=
o 7 F

o
1

ITe

o
1

75

74

A3

e

e

78

77

A 76

o
I

4 v <

5o

te *

o
1

ITe

o
I

LA

I
-

Fo

4o *

W
[ )

[T

4/6



84

83

82

81

80

A 79

[Te

90

89

88

87

86

A 8

e

-

e

93

92

A oL

e

e

96

95

A %4

’

o=

o

o

te *

o
1

ITe

o

Lh
bai

—

o
I

’

’

-

-

[Te

99

98

A Y7

e

102

101

A 100

[

[

e

[

e

105

104

A 103

’

Fo

o

-

4o *

o
1

e

o
I

s

5o

o

-

te *

W 4
[ .0

[Te

5/6



108

[

[AJ

[

ITe

107

A 106

[

111

110

A 109

W 4
oS
ANIV

[

e

-

4o 1

o
1

’

’

-

-

[ J

114

113

A2

A J

e

117

116

A 115

< 7 <

7o

4o *

o
I

e

o
1

4 v

=

to *

[Te

120

119

A 118

o

e

123

122

A 121

I\

A J

I\

I

I

A 124

Y

[ .0

6/6



